10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

Ta— AN =T

MilEY> 7077

WAoo 7 A =T

Bty =T Rifs

MtE LEHAA=T

By =7777

INRE N A v =T

IR 2 A =T

1B RANARE — AN =T

L ~bYy 7R

WP RUEIT R T T AT =T

NAVET RO TT

WAy =T 057

JHE fn =

Z&ERANAAT =T

SV T AR — Y
X o H FH =
NI TEANAT =T
LW A =T
w7y T v
EHoNngv =7
NA T =T
ST 4 — X G R
NAVETNEFITT

FI8EIE A ARNAT =TI T MR —VKE/HE T

(BB

CFrRgL

(ffelie] J7%)

(UN_T2Y)

(HIFLR)

(& )

CHNEY)

(HHI)

(TR )

(ALiiE)

(&)

(RIBUR)

CRBRI)

(HUACHR)

(HHBIR)

(LRI

(Rl I

C&FIR)

(b )

(HER)

(LI S)

(BERBIR)

(HUACHR)

WIH  ARSHIH22H (@)~24H(H)
28 KR IS EE AR A B. C. D
R EREES)Y; E.F. G. H
25
3 1
10 p— )G
4 o3 B a| 7
11 —_ 0
& -7
1 1 —— 28
4 ‘,):I_:' 1
ML 1
3 |6 4 - 10 7. -
7 [E] 3
E 30
0
4 % 3
p— 30
2 b5 |° o 2| 2
1 )g:_'é ! — 33
ﬁ 5
= — 34
4 4
P 1o 7 6] 10 35
2 5
36
41
8 2
— 38
8 1 8 4 1
14
p— ()
6 4
0 (3 5 1 1 "
10 7
11
9 7
1 —— 44
4 |2 4 0
5 8
R 45
p— G
1 4
23 5 ol L 47
9 1
48

37 &

N T

T B R &

Wby =7 Y 7 NR— 05T

A VBN =T

RN T T

TR — I ANAT =T

NLIIAVA YA VA

KWz ryrnayw

MR T — I A

BRTFAT = A =T

EEY~ N T NR—NI5T

wor o H
==V FAH—
o F R
w7 7
W o f s G
ANAT— I ANAT =T
B W 77
EAD -

ra—)—THENA =T

OTblghitinAv =7

WILT 47T =R =T

o 7 7 7

(IR )

(IR

(HEAIR)

(g . J7)

(R IR)

(B2 )115%)

(T8 IR)

(HRE)

—~

SLREIR)

(B ER)

(B ER)

(ZER)

" (RBRR)



	組合せ結果 

